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O AZExH| 1,035
=1
28 (1650008 x2Yx12&) - JIE (155,000 x2Hx12&) = 240
=
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ZE(700)AIHHIE  8h(710)22HIE

MIg(713)b- S| =:(100)2124H| ool - &)
L e E oo [ S =
TR o & o
g Al 9,115,796 9,798,506 682,710
700 AlEHIE 9,115,796 9,798,506 682,710
710 ZgHI= 9,115,796 9,798,506 682,710
713 BH-Z==Hl 7,601,277 8,282,434 681,157
100 ©olAd| 2,143,051 2,126,376 16,675
106 P 96,055 79,380 16,675
01 SR 600 0 600
O 52 ZE(100,000&X1HX6E) - JIH(0Y) = 600
02 ZZS2=xH| 53,215 37,140 16,075
O AZE=xH| 16,075
o= Z&(1,500,000&) - JIH(0&) = 1,500
6= AA(21,780,000€) - J1A(11,160,0008) = 10,620
A= AA(21,235,000€) - J1A(18,480,0008) = 2,755
- 82,92 AZA(8,700,0008) - J1A(7,500,0008) = 1,200
200 =2l 5,434,726 6,132,558 697,832
201 Let23y| 231,346 243,406 A12,060
01 Ar22t2id| 34,500 43,800 N9,300
O HlAS0HE AEAl =AY A 9,300
A=Y ZA(34,500,0008) - J1&(43,800,0003) A 9,300
02 =328l 167,047 169,807 N2,760
O HI|etE e X A=
4(2,280,0008!) - J1&(5,040,0008) = N2,760
202 0dH] 33,780 40,280 6,500
01 =UHYI 2,500 5,000 N2,500
O &% ANE=ES | 4 EF Al.Z ASH|
ZH(250,0002x 10 x13]) — J|1&(250,000&x 104 x23]|) = 22,500
02 EHNHI 14,000 18,000 24,000
O &Al SEX SHAYI Z&(14,000,000) — J1&(18,000,000&) = A 4,000
206 MZ=H| 26,500 29,500 A3,000
01 BHH=H| 7,000 10,000 3,000
O S22t & ABF 24|
AZA(7,000,000€) - J1A(10,000,0008) = 3,000
214 =KX XYl 4,879,309 5,555,581 NBT76,272
01 Z=AHSD| Wb 1,177,093 1,821,771 644,678
O 2EH=| DA A 644,678
SHED| 7(D13mm~50mm)
AA(19,750&x17,010&) — J1H(40,000€ x 17,0108) =  A344,452
- =EAHZD| WHIZA
AA(49,450& x17,010&) - JI&(67,100 x 17,0108) = A300,226
02 Aok WXl 1,295,000 1,350,000 A\55,000
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2:(700)AtHHIE & (710)8HlE HIE:(713)81- 24=8I S:(214)>=Ed KX WHH| ool - &)
o= oo [ S =
@8N 0 & o
PSS EREEN
AAH(15,0008 x 1,0004) — JI1E(100,000& x 1,000H) 85,000
O SAHE BER BHTA
Z&(130,000,000&) — J1&(100,000,000&) = 30,000
05 =HSXHl 989,216 965,810 23,406
O 4T BUEE2 SHI(3HA)
Z8(41,000,000& x 13]) - J1A(48,000,000& x 13]) = 7,000
O Bii==Xl HLUHNMAEH SHHI(6IMD)
28(24,000,000& x 23g]) - JIA(27,000,000& x 23|) = A6,000
O RoDId ®I|otE HABI(SUIIRLE S 7IHA)
AE(115,720& x7IHAx24E) - J1H(230,0008 x7IAx 23]) = 1,599
O His=Xl SXZeldl 50,000
ANEZ2 S 274(150,000,000%) - 7|A(100,000,000%) 50,000
O H4X 2 JterE Sxl| A 11,995
BT SoIzy| Bt
28(785,400€ x 128) - JI1&(1,110,0008 x 12€) = 3,895
BT ZAHION AR SXIR2] o)
HA(1,662,500 x 128€) — J|1&(2,000,0008 x 128) = 24,050
FODIHE X2t S|
ZA(1,662,500& x 12€) - JIA(2,000,0008 x 12€) = 4,050
751 gBtzely| 14,519 16,072 1,553
200 =24l 10,249 11,802 1,553
201 Let23y| 10,620 11,802 N1,182
01 Ar22t2id| 10,620 11,082 N1,182
O EM2Z7|122ZH| AA (10,620,0002) - J1&(11,802,0008) = AN 1,182
203 YRFZEH| 3,899 4,270 N371
03 AIHRFLZIY| 1,586 1,753 N167
O MATNY ABASEAY
AZA(1,585,750€) — JI1A(1,753,0008) = N167
04 ZBEANSILRFZEHI 2,313 2,517 N204
O 2A2ZHRFA| ZA(2,313,0008) - JI&(2,517,0008) = A 204
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o= oo [ S =
@8N o & o
g A 22,371,750 22,401,068 29,318
700 AlEHIE 22,371,750 22,401,068 N29,318
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O e 452 NEE=L
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203 HRFAY| 7,980 9,480 21,500
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AX  (2,400,000€) - J1A (3,900,0008) = 21,500
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5 (230) AR S Mg (237)30172HI1E 2:(405) A SHI ool - &)
o= oo [ S =
@8N o & o
g A 21,696,729 19,975,895 1,720,834
200 XE2XHX=E 21,696,729 19,975,895 1,720,834
230 FEIHF= 17,031 11,300 5,731
237 SJ|7HIE 17,031 11,300 5,731
405 IHAHFESHIS 17,031 11,300 5,731
01 XHAHEESHI 17,031 11,300 5,731
O &EZ2AF o EH| 72| 5,731
- BI(|0IA3(2018) 7Y 2,310,000x174 = 2,310
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800 ofiblbl 21,679,698 19,964,595 1,715,108
801 0oliglbl 21,679,698 19,964,595 1,715,103
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SEEN
MI|E=ele=AHEA 5,500 10,000 A 4,500
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